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  

                                                                                  

5x+8y+19z6-6g4 = 0 

  

+ x + = +              + x - = -                                                                           

- x - = +                - x + = - 

  

  

a(b+c) = ab+ac 

2(x-1) = 2x-2 

 

  

(a+b)(c+d) = ac+ad+bc+bd 

 

(2x-1)(x+2) = 2x2+4x-x-2 

= 2x2+3x-2 

 

  

  

  
 

- (a+b)2 = a2 + 2ab + b2 

- (a-b)2 = a2 – 2ab + b2 

- (a+b)(a-b) = a2- b2 

  

- (a+b)3 = a3 + 3a2b + 3ab2 + 

b3
 

- (a-b)3 = a3 - 3a2b + 3ab2 - b3
 

- a3 + b3 = (a+b) (a2-ab+b2) 

- a3 - b3 = (a-b) (a2+ab+b2) 

  

  

 

A = 8xy+16x2 – 4xy8 

A = 4𝑋(
8𝑋𝑌

4𝑋
+

16𝑋2

4𝑋
−

4𝑋𝑌8

4𝑋
) 

A = 4𝑥(2𝑦 + 4𝑥 − 𝑦8) 

 



 

  

 

 

B = 6xy – 12x3 + 4xy2 – 2y 

B= 𝟔𝒙 (
𝟔𝒙𝒚

𝟔𝒙
−

𝟏𝟐𝒙𝟑

𝟔𝒙
) + 𝟐𝒚(

𝟒𝒙𝒚𝟐

𝟐𝒚
−

𝟐𝒚

𝟐𝒚
) 

B=𝟔𝒙(𝒚 − 𝟐𝒙𝟐) + 𝟐𝒚(𝟐𝒙𝒚 − 𝟏) 

 

ax - b 

 

(√𝑎𝑥 + √𝑏)(√𝑎𝑥 − √𝑏) 

Z = 4𝑥2 − 9 

𝑧 = (2𝑥 + 3)(2𝑥 − 3) 

 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 ∶ 𝑎 = 1 

de

 

𝑒. 𝑑 = 𝑐     ///    𝑒 + 𝑑 = 𝑏 

(𝒙 + 𝒆)(𝒙 + 𝒅) 

 

𝒈 = 𝒙𝟐 − 𝒙 − 𝟔 

𝑔 = (𝑥 − 3)(𝑥 + 2) 

 

  

  

 

 

 

 

 

 

X + 2 = - 5x + 8 

X + 5x = +8 – 2 

6x = 6  →  x = 1 

  

  

X 

𝒙𝟐 + 𝟐𝟑𝒙 = 𝟓𝟎 



 

𝒙𝟐 + 𝟐𝟑𝒙 − 𝟓𝟎 = 𝟎 

(𝒙 + 𝟐𝟓)(𝒙 − 𝟐) = 𝟎 

 : x + 25 = 0 

→ x = -25 

 : x – 2 = 0 

→ x = 2 

 

  

∆

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 

∆= 𝑏2 − 4𝑎𝑐 

 ∆ > 0 

𝑥1 =
−𝑏 − √∆

2𝑎
 , 𝑥2 =

−𝑏 + √∆

2𝑎
 

 ∆ = 0 : 

𝑥 =
−𝑏

2𝑎
 

∆ < 0

𝟐𝒙𝟐 + 𝟓𝒙 + 𝟔 = 𝟎 

𝒂 = 𝟐 , 𝒃 = 𝟓 , 𝒄 = 𝟔 
∆= 𝟓𝟐 − 𝟒 × 𝟐 × 𝟔 
∆= 𝟐𝟓 − 𝟒𝟖 = −𝟐𝟑 
→ ∆< 𝟎 

𝒙𝟐 − 𝟏𝟎𝒙 + 𝟐𝟎 
𝒂 = 𝟏 , 𝒃 = 𝟏𝟎 , 𝒄 = 𝟐𝟎 
∆= 𝟏𝟎𝟐 − 𝟒 × 𝟏 × 𝟐𝟎 
∆= 𝟏𝟎𝟎 − 𝟖𝟎 = 𝟐𝟎 
→ ∆> 𝟎 

 

𝒙𝟏 =
−𝟏𝟎 − √𝟐𝟎

𝟐 × 𝟏
 

𝒙𝟏 =
−𝟏𝟎 − 𝟐√𝟓

𝟐
 

→ 𝒙𝟏 = −𝟓 − √𝟓 

𝒙𝟐 =
−𝟏𝟎 + √𝟐𝟎

𝟐 × 𝟏
 

→ 𝒙𝟐 = −𝟓 + √𝟓 

 

  

𝑨𝒏 × 𝑨𝒎 = 𝑨𝒏+𝒎 
(𝑨𝒏)𝒎 = 𝑨𝒏×𝒎 
𝑨𝒏

𝑨𝒎
= 𝑨𝒏−𝒎 

𝟏

𝒂
= 𝒂−𝟏 

√𝒂 × √𝒃 = √𝒂 × 𝒃 

√𝒂

√𝒃
= √

𝒂

𝒃
 

√𝒃 × √𝒃 = 𝒃 

√𝒂 = 𝒂
𝟏
𝟐 
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